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<?xml version="1.0" encoding="UTF-8"?>

<xs:schema xmlns="http://www.w3.0rqg/2001/XMLSchema"
xmlns:tns="http://dslab.konkuk.ac.kr/FaultTreeSchema/"
xmlns:xs="http://www.w3.0rg/2001/XMLSchema”
targetNamespace="http://dslab. konkuk.ac.kr/FaultTreeSchema/" >

<xs:element name="root" type="tns:rootType"></xs:element>
<xs:element name="node" type="tns:nodeType"></xs:element>
<xs:element name="faultTree" type="tns:faultTreeType"></xs:element>

<xs:complexType name="rootType">
<xs:sequence maxOccurs="unbounded" minOccurs="0">
<xs:element name="node" type="tns:nodeType"></xs:element>
</Xs:sequence>
<xs:attribute name="data" type="string"></xs:attribute>
<xs:attribute name="desc" type="string"></xs:attribute>
<xs:attribute name="1id" type="string"></xs:attribute>
<xs:attribute name="type" type="string"></xs:attribute>
</Xxs:complexType>

<xs:complexType name="nodeType">
<xs:sequence maxOccurs="unbounded" minOccurs="60">
<xs:element name="node" type="tns:nodeType"></xs:element>
</Xs:sequence>
<xs:attribute name="data" type="string"></xs:attribute>
<xs:attribute name="desc" type="string"></xs:attribute>
<xs:attribute name="1id" type="string"></xs:attribute>
<xs:attribute name="type" type="string"></xs:attribute>
</Xs:complexType>

<xs:complexType name="faultTreeType">
<XSs:sequence>
<xs:element name="root" type="tns:rootType"></xs:element>
</Xs:sequence>
</Xxs:complexType>

</xs:schema>
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<?xml version="1.8" encoding="UTF-8" standalone="no"?:
<tns:faultTree xmlns:tns="http://dslab.konkuk.ac. kr/FaultTreeSchema/"
xmlnsixsi="http:/ S www.w3.org/ 2081/ XML 5chema-instance™
xsiischemalocation="http:/ Sdslab. konkuk.ac. kr/Faul tTreeschema, ../ com.D5Lab. KU. FBDFTA/ Foul tTreeSchema. xsd ">
<root data="Vard == 1" desc="Fgult" id="1" type="EVENT BASIC":
<node data="0UT1 == 1 esc="ADD INT" 1d="2" type="EVENT_INTERMEDIATE >
<node data="INI + IN2 == 1" desc="400 INT" id="3"
type="EVENT_INTERMEDIATE">
¢node data="" desc="400 INT" id="4" type="GATE ORDER":
node datg="IN]" desc="Tnput Varigble"” jd="5" tvpe="FVENT INTERMFDIATE"
<node data="OUTI == INI" desc="AD0D INTW 1d="%"
type="EVENT INTERMEDIATE":
<node data="INI + IN2 == INI" desc="ADD INT" id="18"
type="EVENT_INTERMEDIATE">
<node data="" desc="ADD_INT" id="11" type="GATE_ORDER™:
<node data="INI" desc="Input Varigble"” id="12"
tyne="EVENT TNTERMEQTATE"
<node data="Varl" desc="formula" id="15" type="EVENT BASIC" /-
</nodex
<node data="+" desc="Operagtor” id="13" type="EVENT BASIC" /=
<node data=" EsC= 1Apu arigole” 1d=
type="EVENT_INTERMEDIATE":
<node data="Var2" desc="formula” id="16" type="EVENT_BASIC" />
</node>
</node
</node
fngde
</nodez
<node data="+" desc="Operator” id="6" type="EVENT BASIC" /=
<node data="IN2" desc="Input Varicble” id="7" type="EVENT_INTERMEDIATE":
<node data="Var3" desc="formula” id="8" type="EVENT_BASIC" />
</nodez
</node
</nodez
</node>
Z/TO0Ls ]
</tns:faultiree>
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